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This question paper consists of 39 questions in 5 sections.
All questions are compulsory. However, an internal choice is provided in some questions. A
student is expected to attempt only one of these questions.
Section A consists of 20 objective type questions carrying I mark each.
Section B consists of 6 Very Short questions carrying 02 marks each. Answers to these
questions should be in the range of 30 to 50 words.
Section C consists of 7 Short Answer type questions carrying 03 marks each. Answers to
these questions should be in the range of 50 to 80 words.
Section D consists of 3 Long Answer type questions carrying 05 marks each. Answer to these
questions should be in the range of 80 to 120 words.
Section E consists of 3 source-based/case-based units of assessment of 04 marks each with

sub-parts.
Section - A

A solid melts at 520C. Its temperature on Kelvin scale is 1)
a) 52K b) 325 K c) 352K d) 425K
Which of the following will showTyndall effect? 1)
a) Salt solution b) Sugar solution c) Copper sulphate solution d) Starch solution
Which formula is not correct? (1)
a) A1 (NOz)s b) Al2(SOs)3 c¢) Caz POy  d) CuSOx4
Electronic configuration of Mg?* ion is (1)
a)28,2 b)2,8; #c) 8 d)238,8 :
Which of the following is not a mixture? (1)
a) Air b) Petrol c¢)Milk d)Steam
Which of the following does not have neutrons? (1)
a)-H. +b)He ' “c) Ne=uiyis
Which species of bee is commonly known as the little Bee? (1)

a) Apis cerana indica b) Apis dorsata  c) Apis florae d) Apis mellifera
Find out the correct sentence from the following: :
i) HyBidisation means crossing between genetically disimilar plants 1)
ii) Cross between two varieties is called as inter specific hybridisation.
iii) Introducting genes of desired character into a plant gives genetically

modified crop.
iv) Cross between plants of two species is called as inter varietal hybridisation.

a)i&iii b)ii&iii  c)ii&iv d)iii&iv
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‘Q“' Lining of kidney tubules is made up Of e (1)
a) squamous epithelium b) columnar epithelium
¢) cuboidal epithelium d) none of the above
010.  Fats are stored in human body as @
a) Areolar tissue b) Bones ¢) Adipose tissue d) Cartilage
(1)

)

Qil Which one of the following organisms has changing shapes?
a) Amoeba b) Paramecium ¢) Euglena  d) Acetabularia

012.  If a membrane allows passage of solvent freely but selects the passage of specific )

solute particles, it is calledas '
a) Impermeable D) Permeable c) Selectively permeable d) none of the above

Q13.  Identify the situation in which distance and displacement will be equal. (1)
a) An athlete running ona straight track.
b) A bus moving ona circular road.
¢) A pendulum moving to and fro.
d) A planet moving around the sun.

1)

Ql14.  Identify the correct statement.

(a) During uniform motion of an object along a straight line, the change in
velocity of the object for any time interval is negative.

(b) During uniform motion of an object along a straight line, the change in
velocity of the object for any time interval is zero.

(c) During non-uniform of ‘an object along a straight line, the change in velocity
of the object for any time interval is zero.

(d) During uniform motion of an object along a straight line, the change in
velocity of the object for any time interval is more than zero.

Q15. When a body is weighed ina liquid, the loss in its weight depends upon : (1)

a) volume of the body b) mass of the body
¢) shape of the body d) centre of gravity of the body

Q16. The frequency of tuning fork that produces waves of time period of 2 seconds (1)
during its free vibrationis __-

a) 005Hz )05 Hz c¢)5Hz  d)50Hz

For the following questions, two statements are given - one labeled Assertion (A) and
the other labeled Reason (R). Select the correct answer to these questions from the codes
(a), (b), (c) and (d) as given below:
~a) BothA and R are true and R is the correct explanation of the assertion.
b) Both A and R are true but Reason R is not a correct explanation of Assertion.
¢) A istrue but R is false.
d) Ais false but R is true.
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Assertion : Solids do not diffuse in air,
Reason: The particles of solids are closely packed. (1)
Assertion : Meiosis is called reduction division,

Reason: It halves the chromosome number in the

daughter cells.

1)

Assertion : Sound waves are longitudinal waves.

Reason : In sound waves, the particles of the medium oscillate perpendlcullf to

the direction of propagation of the wave.

{ thin, flat irregular - shaped cells (1)

Assertion : Squamous epithelium consists O

h fit together closely like tiles in the floor.

It helps in the movement of mucus, urine, eggs, sperms etc.
Section - B

whic

Reason:

a) Write down names of the compounds represented by following formulae. (2)
(1) CaCly i) K2SO4

b) Calculate molecular mass of CH30OH

(Atomic mass of C = 12u, O = 16u, H = 1u)

Define Isobars. Give two examples. 2)
What will happen if (2)

a) Lateral meristen is cut or damaged.

b) Striated muscles contract rapidly for a long time?

OR

Name the organelles which show the following functions.

a) Digestive bag of the cell.

b) Storage sacs of the cell.

)

Carefully observe the graph given alongside

and answer the following questions :

a) Is the motion an accelerated motion?

b) Find the distance travelled by the body in 20s.
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A water tanker half filled with water is running with a uniform speed. When the (2)
brakes are suddenly applied, the water in its tank moves forward. Why does this
happen?
OR

How much momentum will a dumb bell of mass 10kg transfer to the floor if it falls
from a height of 80 cm? Take its downward acceleration to be 10 m/s2.

If you are provided with some vegetables to cook. You generally add salt into the (2)
vegetables during cooking process. After adding salt, vegetables release water.
What mechanism is responsible for this? Explain.
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a)

h)

a)
b)

Differentiate between Cartilage and Bones. (Give 3 points)

Section - C 3)

€ reasons.
- . \ .

a) We can get the smell of perfume setting several metres away. wite

b) Ice at 273K is more effective in cooling than water at the same tempera .

¢) Our palm feel cold when we put some acetone on it.

A solution contains 50 ml of ethyl alcohol mixed with 150 ml of water.
Calculate concentration of solution.

Arrange true solution, colloids and suspension in the

1) Decreasing order of stability

i1) Increasing order of particlesize

OR
Write any two differences between compound & mixture
Classity following as physical & chemical change
i) Cutting of wood ii) Rusting of iron

(&)
3

a) What is composite fish culture? ,

b) Explain with one example.
¢) What is the problem associated with it and how it can be solved.

a) In each of the following force, F is acting on an object of mass, m. The (3)
direction of displacement is from west to east shown by the longer arrow.
Observe the diagrams carefully and state whether the work done by the

force is negative, positive or zero.
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b) A crane pulls up a car weighing 500 kg to a vertical height of 4m. Calculate
the work done by the crane? Given g=10m/s2

An object of mass 3kg is moviﬁg with a velocity of 10m/s. A force is applied toitso (3)
that in 25s, it attains a velocity of 35 m/s. Calculate the:

a) initial and final momentum of the body.
b) value of force applied.
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